OUTLINE QUIZ CH. 10: SEXUAL REPRODUCTION and GENETICS





PART 1
1. Reproductive cells, which pass on genetic traits from the __a___ to the __b___, are produced by the process of meiosis.
2. Meiosis produces haploid _____.

3. The variety of characteristics among your classmates, such as height, eye color, hair color, and other features, is a result of two ______ combining during sexual reproduction.

4. Each characteristic that was passed on to you by your parents is called a(n) __a___; the instructions for each of them are located on ___b___, which are found in the __c___ of cells.

5. The DNA on chromosomes is arranged in segments called __a___ that control the production of __b___.

6. Human body cells have _____ (#) chromosomes; each parent contributes _____ (#), resulting in _____ (#) pairs of chromosomes.

7. The chromosomes that make up a pair, one chromosome from each parent, are called ______.
8. Homologous chromosomes in body cells have the same __a___, the same ___b___ position, and they carry genes that control the same __c___.

9. In order to maintain the same chromosome number from generation to generation, an organism produces __a___ that have __b___ the number of chromosomes.

10. In humans, each _____ contains 23 chromosomes.
11. The symbol __a___ can be used to represent the number of chromosomes in a gamete; a cell with this number of chromosomes is called a(n) __b___ cell.

12. The process by which one haploid gamete combines with another haploid gamete is called _____.

13. Fertilization results in a cell containing a total of __a___ chromosomes (a cell that contains this number of chromosomes is called a(n) __b___ cell).

14. While mitosis __a___ the chromosome number, meiosis __b___ the chromosome number (which is why meiosis  is referred to as a(n) __c___ division.

15. Meiosis reduces the chromosome number by __a___ through the separation of __b___.

16. Meiosis involves two consecutive cell divisions called ___a__ and __b___. 

17. Like cells that undergo mitosis, cells that undergo meiosis go through _____ as part of the cell cycle – in which they carry out various metabolic processes, including the replication of DNA and the synthesis of proteins.

18. As a cell enters prophase I, the replicated chromosomes (which consist of two _____) condense and become visible.

19. During prophase I, homologous chromosomes begin to form pairs in a process called __a___, during which they exchange segments (a process called __b___).  As prophase I continues, __c____ move to the cell’s opposite poles and spindle fibers form/bind to the __d___.
20. During metaphase I, the pairs of ___a___ line up at the equator of the cell. 

21.  Recall that during metaphase of mitosis, the __a___, which consist of __b___, line up at the equator- this is an important distinction between mitosis and meiosis.

22. During anaphase I, the __a___ separate – each member is guided by __b___ and moves toward __c___ of the cell.  This reduces the chromosome number from __d___ to __e___.  

23. Recall that during anaphase of mitosis, the __a____ split – but during anaphase I of meiosis, each homologous chromosome still consists of __b___.

24. During telophase I, the __a___  reach the cell’s opposite poles.  Although each pole contains only one member of the original pair of homologous chromosomes, each still consists of __b____ (which might not be identical because __c___ might have occurred during __d___ in prophase I).
25. After telophase I, __a___ usually occurs (forming a(n) __b___ by pinching in animal cells and by forming a(n) __c___ in plant cells).

26. Following cytokinesis, the cells may go into __a___ again before the second set of divisions, but the DNA is not __b___ again.

27. During prophase II, the ___a___ forms and the chromosomes condense.  During metaphase II, a(n) ___b__ number of chromosomes are positioned at the __c___ by spindle fibers.  During anaphase II, the ___d__ are pulled apart at the __e___ by the spindle fibers, and the sister chromatids move toward the ___f__ of the cell.  The __g___ reach the poles during telophase II, and the __h___ and __i__ reform.

28. At the end of meiosis II, __a___ occurs, resulting in four __b___ cells (each with the __c___ number of chromosomes).
